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36-1. 67
fz) = 2" —42® — 22 + 122 + 122} 5}H
f (@) =4(z+1)(z—1)(z—3)
O[22 z=—101M F£3t 3,
=101 IHZk 19,
x=30M %2k 38 7IXIEE
B4y = f(x) 9 J2f== D20t 2ot

10] 1 3 -

2t k<32 M, a, =0
k=3¢ M, a,=2
3<k<199 M, a, =4
k=192 1}, a, =3
E>19 I, a, =2

20
N, =67
k=1
36-2. ©®
(3sinz +4cosz)(2sinz —cosz) = 00| A
4 C . l
tanx = 3 = tanx = 5

3
e r<a< Eﬂ'OlEE tana >0

1
2t tana = )

N
ox
n
#2
o
=2
nx



. 2v5 . . 5
cosa = 5 , slna = 5
. 3\/5
. sina+cosa :_T

36-3. @
n=14M a =5 =3
n=2%M a,=5,—5,_,=2n+1
m2t a, =2n+1 (n=1, 2, 3, ---)

apym—0a, =2(n+m)+1—(2n+1) =2m 0|22

8 8
Z(an+m_a’n):ZQm:8X2m216m:48
n=1 n=1
]

B om =3

ay, = a3 =

36-4. 33
by +by = (a; +ay)+ (ay +ay)
= (a; +ay)+(ay +(ay +1))
=a; +3a,+1
=3a,+4=3

M2t a, :—%

5

D (a,+,)

n=1

5 5
= E a, + Zlbn
n=

n=1
5
=Y a, +{b + (by+by)+ (b, +5)}
n=1

={a, +a,+(a, +1)+(ay + 1)+ (a; +2) }+{(a, +ay)+6+12}
a1 2 _1
=3 3+4+3+5)+(3 3+18)

=33

36-5. @
flz)=az’(z—3)+k2 52,
f4)=16a+k=0
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olr
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o
ne
r)l
S5
=

4
f flz)dz=4k=160|B2
0

1
k‘*4y a—*Z

et flz) =— %x (x—3)+
flz)E z =00 347t 4,

=20l M JEgt 5

EIHIERE SUE SEUS 22 5+4=9

36-6. 26
fla)=(z—1)(z—3)=2>—42+3

log, f(z) >1log, (z+1)
1 2

log,f(x) <log,(z+1)*
RlgzZ40| 9510 f(z) >0, 2+1>00/22

—1l<zx<l,z>3 NG
S(@) < (@ +1)%00A] o> < D
6, 02 Hsio] 26

%<x<1 x> 30|10 HEA

(z—a)(z=b)(z—c)>0
of et ooz

a= %, b=1,c=3

o2 &+ UL

m2tM 6(a+b+c) =26

36-7. @
ZH (GPOIA £ BAD= 2 CAD=02 £8 4 9C,

AB=z, BD=yz} 5}H
Z2 (LhOIM &2t ACDO| 2F5Hs %9| UIx| g2l Zo|7t
A2t ABDO| 95k /19 $IXI52 2ol 3022
Al lof] ol
B ____ TP

sin(£BAD)  sin(£CAD)
CD=3y )
G2 22 (Fhol| U5t AC=3x

24 (EHoM DARIHEES 0| EolH

AC?+BC°—AB>_  AB’+BC’-AC’

2ACx BC 2ABx BC
S0’ +16y" _,  —82”+16y°
24xy 8zy
y_BD'_ 7T
2 AB? 10



36-8. 12

_[flz) (z=0)
f('””')—{ﬂ—x) (< 0)

f(x)=m2+ax+bal-;|- b
2 GholM ¢(0 /f dt=00|02
§+2a+2b20 )

Y

y = f(lz])

ZA (LhollM ofxtgte f(z) 9l H0| yZECH 2EZ0| US o
% g(o) &z =—101M FCHZS J17Ct

Z/:f(—a:)dx-F/Of(x)dx

oo |

TR f(r) o~ 7w+

S sorie=a f ot T

w2t 2E Zeol 4
3X2X6=36

36-10. 16
HEUTES f(z) 7t EM o =120 Chsiod CiE0|22
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m=12
et (ol f(@) = f(k)) ol ole| /A o e
k—m r—m ‘k—m‘
- < <
o o o

g BEAZICE
P(z, < X< z,)< 0.68260|A

ry—m .’I,'Zf'fn)

< X<ax)= <7<
P(z, < X<, P( p <7< p
- p(_Mg P M)
g

ol P(—1.0 < Z< 1.0)=0.68260|2 2
[k—m]|
—<

ag

m—o<k<m+to

b2t a=m+o, b=m—o
o) a—b=80|22
20=8,0=4

L2t m+o =16

36-11. @
e X9 g 3 Mo Xf2| 7+ 321 A9 I
oI, =100

O] K274, 5, -+, 921 A Jh4E Z12E 1000|122
100 X 6 = 600

whepA EE X AA0| 7hE= 700

SHE, 3<a<b<c=<95 EANI =M Xf2| Xi40|

e
3,4, -, 90|M 371 E Bt SETRIQ £t €2ER
Hy =C; =84

SHH 3 < a<b<c<9E EAZ|IE M A2 A9
M

3, 4, -+, 90M 371 E Eots TR ot 2B
Cy =235

met Pk sEe

35

700 _ 5

84 12

700
36-12. 392

i) a, c, e SAHAL I
1< a< 601 b3} do| A9 4= 21zt 50|22
6% 5% =150

i1) a, ¢, eQ SAZF 5L o
1 <a<40|1 b9} do AR9| 4= 21zt go|2 2
4% 6> =144

i) a, ¢, e ZAI} 6L mf

1<a<20|102do AR = 22 70|22



2% 72 =98
et Fots 49 o=
1504144 + 98 = 392

2 oI5 i

36-9. @
Z2 (FbolIM £(0) =g(0) =00|22 F &= a, b0f CH510]
7

fl@)=z(x—a), g(z) =—a(z—b),
2 =g 4+ UCh
ot =4 holM £ (0 (0)o|=22
a=—00|C},
_ g(x)
limln{Hf(:r)3 glx)}?
z—0 x
. gla)xIn(14+22%)
=lim A
z—0 x
2
:Mm{g(w) « ln(1+22x ) }
z—0 x X
=4 (0)x2=4
r2tM ¢'(0)=2
b=2 a=2

f(fv):x(ﬂc+2) g(x):—w(x—Q)

z—>2 T—2

=lim(cosmz)x F" (1)

r—1
=—f(1)
=—acosmT=3
Soa=3
o flz) =3cos (rz?)
f(3)=3cos9r=—3

36-11. @

H POIAe Tl HAe
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B(O, 2lnt—1 )

t
1)0<t<ed
H A9 yZtEIIE B yZEECIEE

1 Int 2Int—1 1—1Int
ﬂ“*a”*(T‘ ; )* 2

ie<t<e?

8 BO yZEItE A9 yZHEL 322

f(t) =éxtx(21ni*1,lltt): lnt;
/f clt—/1 it f“lnt G o1
36-12. ®

Z4 Oholl 2I51
QAo —1 =1
Z (LD, (©hofl 2l
— V2 %= a,, =1 F= a,, = V2 0|LCt
7
Mia, =4x(—1)+a,+a,+a, =3

m2tM ay +a, +ag =10[H

IH58t ay, ay, agQ B 242E— /2, 1, /2 0)A B
MEdsH= ZHo|C,
7
Yi(a,)?=4x (1) +(= v2) +(v2)*+1=9
n=1

37-1. @
f(xz)=2z0|1
h(z) = f(z)g(z) 2t SHXL
f@)g(@) =10 _ . h(x)—10

£1£I% 22 —4 }rlir% 2> —4 -1

oA h(2) =100]12

h(2)=f(2)g ( ) =100M g(2) =2

. z)—h(2 "(2

Lim (x) = lim (Zg;)(gi;f L=
OlM R’ (2) =400|CH

o|i,

(o]
o
o
»#2

OF
=
nx



h'(z)=f (z)g(z)+ f(z)g’ (z)0|22

h'(2)=f(2)g(2) +£(2)g" (2) =400 M
g'(2)=%
37-2. 25
10 10
;{(ak)2+(bk)2} > {(a,+b,)* —2a,b,}
10
k;(k —2a,b,)
10
72’“2_22‘11@171‘
_10- 161 . 21—2Zakbk
k=1

10
=385—2Y,a,b, =335
k=1

10
Y ab, =25
k=1

37-3. @

4 TH | oI

=

[ (z)=32>—2mz+4m —4 > 00|2F
§:m2*12m+12 <0
6—2v6<m <6+2V6

m=2, 3,4, -, 10

37-4. @

y

y = sin2zx

y = sindx

Vs i a s a
b=grecem A=y Ty
- sin(a+b+e+d)=sin %ﬂ'):_g
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F@)g(z)=("+ax+b)(®+cx+d)
Ol 272 ALE a+te, 229 HLE act+b+do|B2

atc=4 NS
act+b+d="7 - ©
hmwzmw

r—0 X

f0)—g(0)=b—d=0 -+ ©
f0)=g'(0)=a—c=2 @
O, ©, ©, @0l 2510
a=3,b=2,c¢c=1,d=2
f(1)+g(1)=6+4=10

37-6. @
SAE {a,} 2 AMES b, BALE det SHA}
=b+(n—1)d (n=1, 2, 3, ---)
S,.o—8,=a,,, ta,,,0l2E
(b+nd) (b+(n+1)d)=—12n+a
2dn+2b+d=—12n+a
2d=—12, 2b+d=a0|2E

a
d==6,b="3+3

sa, = %+3—6(n—1)

S, =8 S UENIIEMELE FXARp, ¢ (p>q) 2 BE
=M% (p, @) 2 471 80| El= HRE Ol F 71X ALt
i) a;,=0% I

Sy =5y, 57 = 819, -+, 51 = e

0|22 ZE (p, ¢) 2 757t 80|Ck

i) ag =3 o
S = Sig, O =8y, 0, S = Sy
0|22 2E (p, ¢) 2 747} 80]Ck
ay=5—45=3

. a=96
M2t 22 X a9l 442 &2 90496 = 186



74 OPoilA f(1) =00|22 ¢(0) =1
(Lhofl 2f51

g(1)=2¢(0) =20|22 £(2)
g(2) =2¢(1) =40|22 £(4)
g(3) =2¢(2) =80|22 f(8) =
olm, f(z) 7t 7122 Hgt g(x) =

[ s f—WHj° ©)dz=2-
fl g(z)dz= /Og(:l:Jrl)dm:Q/O]g(x)dm: 10

/Sg(x)d:c=2/2g(x)dx:7
10 20) 37

twwff mwx3@+?+?,

1
2
3

0|>|
3

JF5ICY

5
3

w|

3

37-86. @

i = =00
1) A, Ay 1 OI—I

ol

°
n > m@l Bz XH4 nof {51 a, = 00|CE

J2|1 3 <n < m@l 2E X4 n0l| Th5ld a, =09
A2 a, +3a,_, =002 q,_, =0 EE

a, ; =—30ICk

j-E-IL}‘ n—1 773&[ @‘?‘ a71722+3an 2 :73O|DE
Qla, ,7t EXSIX| k=Lt
et 28 {a,} 2 a,2H0 £= —30] & 2 AU LIHX]

i) a,, =a, ., # 0 82
a,, =a,, +3a,,
a,, =a, ., =201
n > m?l ZE XHL nof ti5t0{ a, =—20|Ct
2[R 3 <n <m@l 2= XA nof Y51 g, =—22!
Ehy
a, *+3a, ,=—20|22q, ,=—1F=

a,_, =—20|C}.

J8Lta, ,=—10124%a, ;S +3a, ,=—10/22
40l a,_,7t EXSHA| =Lt
w2t £E {a,}2 a2t —1 FE —20[ E £ T LIHX|
o2 25 —20|C
2m
ol, »,a, =—998 BEEAF[HH a; =—10|0{0F SHf
k:1

a, =—1-2(2m—1)=—4m+1=—99
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a,, =—4, a,, ,, =40|Ck
220 g, 2+3a, , =—40|92 H40l g
EHSIA] 240t m = 1Y 8iof ict,
Jd2ltta, ., 0179 ZE g2 2F Y4022
2m

3, =—995 QIEAL 4 QiC
k=1

0l

'm—1

b

4 sget 0

37-9. 50
(MAH 3R] ) —{(a7t LI2X| b= 29| )+ (b7t LI2XK|
U= AR )+ (a2 b7t 2F LI2K| b= ERel )
=3'— (2424 +1*

=81—32+1
=50
37-10. ®
X~ N(m 62)
Pla< X<b)=p8 US| T 84 a, b (a<d) 9 X8
Z0IM b— a7t BEZS TR ARE o, b7 HTFEEOA
A moj| Cfsto] MZ THEIQI AL}
oltf a+b=2m, b—a=120[22

a=m—6,b=m+6

p=P(m—6<X<m+6)
=P(-1<7<1)
=2x0.3413 = 0.6826

37-11. 133
MO X2 RALE a, WOl X2 XS b, A2 XI2| ZALE c,
9| Af2| =ALE dt 5HH
1<a<3,1<b<9, 1<c<9,1<d=<9
i) a=1Q1 3%
b+c+d=120|1
b, ¢, d& StL7t 100] &= A2= M QlsHof ste =
3y —3 =152
i) a=201 4%
b+c+d=110|E&2
3Hg =45
i) a=32 A%
b+c+d=100|22
S =36
2R 52+45+36 = 133



37-12. 42
ZXIE X Z a, b, cE2f SHAL

HE7| AsiM=

a'= 10] OFL|T b9} RAO|T, ci= bO| Hj40]0{0F BT,

i) b=391 2%
0, ¢B U2 Y=

S X
Olth a, b, ¢ 5 30| Y= FR 413
3

13

(og]
+
e}
+

ek ot gL

Soptqg=42

v
=)
a2
Hr

256 16
53"
2t 1imS,= T 32—6m

Week 6

13



1

et a,a, == 1)

Z L Z mi 2

n=1 n=1

37-11. @
f(z)=2nz— f(z)lnx
={f(z)—2}(~Inz) -~ O
ol f(x) 7t HAEELH ZH HAIM f(x) = 20|22
f(e) >20|22 2E z0M f(z) > 20|k,
/' (z)

=z

flz)—2
/%dx:f(—lnx)dx

In(f(z)—2) =—zlnz+z+C (& C=XHEAS)
olmf f(e) =e*+20/28
In(f(e)—2)=2=—clne+e+C

f(l’) :efzhl;t+r+2 +9

Aol £ (1) =00|2 2 =15

STEHRER & fz)E =1
b

29z f(1) = +28

37-12. @

e sin? To- 380 Seinl
]3(37251112,EC74]?>szsm2

+CBD = 2BAC=60|E22 CD= 4sin2%
2715 DECO|A ZARIHEIZ 0| 8351H

ﬁ2zﬁ2+@2—2ﬁx@cos(g—%)

= gsinzﬁ—i- 16Sin4£— 12sin3£>< sinﬁ

4 2 2 2 2
SERRUTHR (N
—451n 2(1+ 9 sin
Tp_ 3 il 16 . -0
ED= 2sm2 1+ 9 sin 5
B L I R e 1
f(@)—Qst( 1+ o Sing 1)
§Sin32
tim 2%~ Jim 52
=
= b H’*W(,/HEsinQﬁ +1)
9 2
(3]
7>< P
_37\2) 1
2 6



C_;ay.e;a

N 481, 442 o
38-1. @
M y=k(z—1)1} =M :\/gtanm:%

HE2ARH A2 UGS AE a4, a,, a;, o, Bt 51
ay =1, a; ta; =20|2&
V3tana, + \/gtan% =0, V3tana, =0

olck. T 2 < a, < 301

V3tana, =—3, tana, = V3
4 4

(o] prr a4=§
. ,_—3-0_9
k= §_1— 3
3
38-2. 45

F & A1, 4), BOM y=0f LH2I M0| g 242t

A’, B'o|2t 611 A'(0, 4)0|2&

QA'=qg—4, AA'=1

MAIZIE APBQOIAM AQ=QBO|Z £~ AQB=90°2S
0|83s1H F MZZIE AA'QQ QBB &80|22
BB'=QA'=¢—4, QB'=AA'=1

. B=(qg—4, ¢+1)

FAZIE APBQOIAM = CHZH AB, PQ2| SF0| YX|st2=2
1+(g—4)=pO0lD 4+(q+1) =2"+¢

2 =50|M p=1log,b

g=p+3=log,5+3=1og,40, 29 =40

S 2P 421 =40+5=45

38-3. 16
SHI=Zo AMEE o, SHIE rEf ofH
as—ay, =ar(r—1) :% NG

a5 — Ay :a(r4—7’) :ar(rg—l) :ar(r—l)(r2+r+1)

1<ar(r—1)(F+r+1) <70IM O 451

3<rP+r+1<2l

M2 —5<r<—2Es1<r<4

aQy

—=r0lA 10| 40|22 r=—42 1, 10| FHZH2
4

160|LC},
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—B= (f(x)—aa:)dm—g =3
0 4
=t
3
38-5. @®
ay, =a;—5
a3 =a; —3
a;=a;—1
a; =a;+1
ag=a,—4
a; =a; —2
g =y

2Z {q,}0| 7EOICt HtEE|2R2
30 7

Y =4X Y, +ay +ay
=1 =1

=4(7a, —14)+a, +(a; —5)

=30a, —61=5
11
a; ?
38-6. @

HEAM g(z) — flz) = fla) (2 +4z+a—1) =0

Al 22+ 4z +a—1=00]| 8| ZtK| LO}o} Sict
D
Wr=I9Y| ST =0a<0

a>5H
g () =2(x—1)(a®+4z+a)+(z—1)*(22 +4) 0| A
g (2)=2(124a) +8=2a+32
at 602 X022

38-7. 100
/BHE = g 0|22 ME BEES Az DBHO| Qo]
X|Eo[ct.
h2pA LBDE—% il

A2V BDE @} AF2+s BHE = 8H=0|C},



T 9
2 T 0
i =7 == -2 2
DBE HBE > 13
21" DBH | 2@ S48 Ot TAL

LDOEZQLDBE:%—G

AMZF DOEOJA ZAIQIHEIS 0| 2561H

\/ +8—2><2\/§><2\/§cos(g—0)

= /16 —16siné )
A2 ADEOIM ARIHEIZ 0| 85HH
DE=2+/3sinf - ©

O A /16— 16sin0 =2+/3 sind

3sin20 +4sinfd —4 = (3sinf —2)(sinf +2)=0
[C}2fA sinf = %

) 4 5
f=1——=2
COS 9 9

. 180cos?0 =100

38-8. ©
gt g(z) 7tz =00lA D|=IISSIER
g(0)=f(=4)=0
g (0)=f(-4)=0
et f(z) =— (z+4)?
—? (x>0)
9(z) :{/:t(t-i-él)zdt (z <0)

y

y = g(z)

Y

4 \ B
lg(z) —g(a)| 7t M4 HrQ] HEOIM OlR27IS5IAH

g (a) =00[0{0} St22
a; =—4, a, =0 O|C}

/”’2|g'<x>|da::fi—g’<x>dx

O

(—4 <z < 00N ¢ (z) < 00|22)
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=g(—4)—g(0)
:/ t(t+4)%dt—0
0
64
3
> 53} £ L
38-9. @
=50l JZof| 25t
a+b+i:1 NG
E(X)=E(X) =201A
a+2b+%:2 ©
@), O2 A5t EH
=Ll

X= S olefei 4% £83(0f LIR 42| 0] 60[0{o} SHO2

10| 281, 27} 2t LI@AHL} 10| 3tH, 30| 11 LIejof BiC},
i) 10| 21 27} 2W1 LI = A2

ALy

2121\ 4 2 32

ii) 10| 3t4, 30| 1 Lje= AL
BL) -
3! 4 64

i), ii)0f o5l ot EES

3 1 7
2 61 61
38-10. @

n

Ma+) i =@+D)+@+1)*+(@+1)+ -+ (z+1)"
k=1

(e {@+D)" -1}

(z+1)—1
_ ettt 1
X X

off Z (z+1)k2 MMM 279 HAE o, 2

(z+1)" 1o MMM zio| H 4ot 2oz

ay, :n+1C4

THAZIo| M2HHE 0|85l
10

23 a,= 4Gy 50, +6Cs +7C, +5Cy +4C +1,Cy +1,C4

12X 11 X10X9X8
=1l = Bxdxdxaxl 2




38-11. @
a2 +0* =8 HEN|E =M% (a, b, o) E
(3, 4,5), (4, 3,5)
(0, =1, 1), (—=1,0, 1), (0, 1, —1), (1, 0, —1)
(0, =2, 2), (—2,0,2), (0,2, —2), (2,0, —2)

(
(
1} 20| A= Fol= &E2

38-12. 328
= (LhE PEA7 = 8R9 =
5X 5 X 5x3=3757}X|0|C},
O{7|0f| 10| O|R5t= AR +5 WLt
i) 10| 2740l &AL
0011, 0110, 1100
4X44+4X2+4X2=2327}K|
ii) 10| 37§01 A=<
0111,1011,11 01, 1110
4+4+4+2=147}X|
iii) 10| 47401 AL
1111
174K
oo 375—(32+14+1) =328

} o| &l g et
38-9. ®
~ a, +2 B
2% {a,}0l +HEat=0l £ E— O eHMtstEz
lim(3a, —1)=0
. . 1
. hmaﬁg
. 4
o= hm(an + 1): 3
4 n+1
i 20" 43 2(?) +3
-1 =1i
now o1 e [4)"
(3) 1
4 3\"
X — X | —
(3
:hmﬁzg
”(z)

38-10. 5

E3ZMy=Inz, y=In(2n—2)2 BHEO| 2EHE= no0|1

wHM F

[

— — Hi-—

A-IO" e K-IA-IO' 7|%7|E 2+Zt l
n
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45 AHE #eh100d A
WHEAM SM y=Inz0f 2

37|58 agtd
0=2a < Zo|c},

2
M2t tanf =tan2a =

5tan’a +24tana —5 = (5ta

1
tana:g (" tana >0)

1
O|f tana = o O|EE n=5

2tanae 5
1—tan’a

=L

Yt 2 50[ 0| F = 0|22

5fH o < —O|DE

12
na—1)(tana+5)=0

38-11. @
, N 2x
Sla)=at 22 +b
ZH (LHoIM f(0) =a=38
L 2 822 + 2z +8b
o) =8+ x2+b 22 +b
olmf &= f(z) 7t HESE JHRH f(2) 7t BIIES £
ZAEH40[0{0F st=L|

7(0)>0022 &4 f'(z)

> (0|0{O} SiCt,

ojmf 220IM 2> +b > 00|2E 2K M

8z2+2x+8b = 00|
2R O|RPEFRIAl

oo
D

Z=1- <
1 1—-64b <0

ShAF MBS

822 +2x+8h=09

o =i},
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